[fite 7 ]

BR-b0FLZBR-5THE, - FH-BEEBITEL"ICLELELS !

201645 FKEBZILERFEMKITH : #HEI—X
(FHW = Wil = ®WR) FE2RE

20164% 78 5H
FKIBZLEERFEFNMXRITHEFERETEES
[EASSE - KB L TER SRS
Tr043-239-6971

O TH13H (k) REE => EWMH&AFA-BEHIBICTEHLES 17:10~

O 7TH14H (OK) [ FER = pkH ]
EMHERFAT(9:005646.79: 30 %) = HialEkt] = ERESER = NMNEEH =
HRAEAR = FERIT = XKINAHEYDTET = ERERET = IBRR+FE =
KIEE = T - ALTU-RE — (J\R) — MIFETER(11:30) = #HIGETZIZ(12:
00~13:00REB) =>FEH = #BlaE -(\R)—» XKMHIZ 2 =T—t 59— =
BREAHER THRXA(15:30 BETASI#E)

O 7TH15H (&) [ BHE = 8 ]
BRET&AT(9:006&.79:30HHK) = EBAZEOHERAI(11:10) — (BEHH) —
REGEAFEREREO(11:40) = FULYVHE] = JRBAHEREO = dRAREE(12:0
0~13:00 BREB) = BISE = LAXEE = I ALITUKRIERERI(14:00)
— BELE(14:15~14:30 KEH) = HEXT = JRIEERAI(15:20EEH 5]
B®E)

O TH16H (1) [{#E~miEnE = T3 ]
EEH&RAT(9:00645.79: 30 H)=> KETHEIEH > FAERER = EEhREMNE
= EEHTRABTE (KE) = FAERH = JRIEBER = X—/\—3478] = FiIF/N
R = ZHAM(1:50~12:10 KE) = WE/NER = JRYHER(13:10 M@
BEASI#E) - (RERE-TEETHELTHEY) — mEEm&RE (14:304£4
/S HHEES14:45~15:16H%) = HRT-B{BE74AT)2H > FHNBFE-EER
= TEHEFER = HBHE = JRE#HEER = ZLARITHE = ERERA = H55
RNDE(16: 30~16:45 {AEH) = HULVH2THRFUFHR—TH = EEHEFER =
EMEEAE (17115 ~ SI#HEES FEHA)

O 7TH17H (H) [ FF = AT ]
FAE(9:00564.79:30HFK) > TRAER = BHEELT = EE165K =
FESFEGELGT > FESA#IavE S 4—F1(10:50) = hRRFERT =
FEITEFEIHRE(11:00~12:00 BE) =165 = 165K KBEES LR
= BEHRARRR—YtEU 44— ({KE-14:008%) = ERIJIEHBEAES(15:00~15:30
KE) = ERIVNERTFHT = TER/N\TFREER > REBEASEI2AE(16:30/\
FREAGIHEE)

S THLI8H (B) [ NAFHR = #HEY ]
INTFHRTZ(9:0085.79:30 %)= HOEH = FHEEMESHET > RER



TER = TILIVER = ARAESENR = \NTREBEXREZEREHR = KZEHX
Bl = EE2065AH @ SEZAO0(KNBFE)ESENR = NFREH = 5&
B 2THESWA LR = BERE/NTREAHT = \FREEFELDOFHF UAE20
) —(RE2625#H)— N\TFTREIXOTHESENR — (ERAK AN - EEBEUE
= \FREFX1TEHESEH = \FTREEFEFRAE(12:00~13:00 FERER)
= NFREEXEF42AE(13:00~14:00 XFix) = NFREEFEXHR = \FRE
EREO = IJLLRATI = WAKOA—T A = NFREEI—-1168H = N\FHKER
OTHIE BLEH = MBILAXREREGH = MMILAVMETNXRERER = BEESE
H5TH7EMERERGIT = ENXRBAENH = Fo)—EEF = EM1528B0
5:30% BHEBHTASI#HE)

O TH19H (k) [ BEH = G ]
EHM—ES2E(9:00645.79:30H%K) = EH/NaIEA = /\BELAE(10:30{KE-10
50HF) > KRARBEESH = ISVVER » BEHERMEALRT > SEHHEM
(12:00~13:00 BB)=> ZHABEEE = #7 AR > ShHE = FCEER
2AE(14:00~14:30 KEE)> FHEBER = ZHASK = FT&H = 8F/\—9457
>(15:00~15:30 K%)= EHAZER(@EO~4O) = /F/NFR = JREHIBER
BEHO(16:00% - MIBTHASI#E)

O TH20H ) [ 1E = skro ]

SEAHEN(8:30%K46.78:40H%) = SHREF-SRAFAKLAE(9:00) = SR
EhXRES o tEEFHEBAE(10:30~11:00 KE) = EMEAE(11:40~1
1:501K8) = TEMETEHIHREE(12:05~13:05 BRB) = EFEAKR = =
H&E = KREft = SRILGER - GRUiE~EE@ SHEBE) -REBHER > XEH
KMAE = JRMIBEILO(14:50~15:50 BEzELTE) = MBREO = KEE
= KETBYRISUTILKREm = ZE2TEXREZARAH = EE145 = MEHEKRR
AOXRELRER = METERAXEI-HWTREE(16: 15EF - #Hy AT ~5I#F-17:3
Off# &)

O TH21H R #58 = Hfkv ]
e BT My B RULEREELA2—(8:30%KE&.79: 15H %K) = MEREH = &
RITEXREREHR = RyB/DMATEH = BRYB/DZoTEHR = PREELV5—
Bl = MABAXEREE = AUITTEXRERCAEAN) = EHLFIERKBEES =
AR AERI(10:10 KE) = RRBy /R = AT ERITAAET = REKLE
= s BRI = HFHAY = mRFA2:15HAFEKR)

O TH228 (&) [ ®HBF =M ]
JREKBZFERILDO(8: 5058 HEESL 9:20HHK) = KEAFTIEMENT = XE
EHREOAOREZEREE = TILLWEHEE > R1S2E(KE) = RtXEY (IHKFE
#E) > RMRET7ALIVEN = RERER > TRAAI+HFEREH = L8y =
FEALBE(EMRE SR 51 #EES£11:20~11:40 HHA)

O 7TH23H () [ #= wl ]
MHEREMLESHITES(9:00564.79:30HHF) = 7IaEHEl = AF—3—HFK—
Bl = JRMER = YUZHRTH = B1TEXESLEHR = EEG6SR = BEXER
A = (BEMA-FLUE) = (BEEROP)TEREHT = BEEREEV4—(11:15~1
2:00 BRB) » FHRLEFNXREREG » EE6E#HR » BHALHEAOXREREH



= RERER > EMHRED > BRREAE(15:20%F - RIUTIA~5I#E)

O 7TH248 (H) [HRw= 7]
HKIEZHRTLRARILEU RS IL/ISA—VERAFI(9:00&E & " HFEESL 79:35HF) =KL
ERU—TEHESEHE = FHNEIZTLBE(RILUTEME K#E) = 3—YIY—FENEE
Al = JAESIHODHRRFBILZERIATT = RUEHFMERAEUEER = /b—3—h
F—-E/NR—LER] = RABASEN = £FHEFRIMESEHR = VOLKSERIUIER]
TFEBRAHR = ROESTER = BHRLULOLVLGIABRUAE) > a—TH#LLERILELRT
EHL.I<CER = MAS2E(12;355F - FmASI#R)

O 7TH25H (H) [#F = Wil ]

WMPT&M(9:0064.79:30HHK)> WFEREN (E{59:50~10:30)=> AKEREIE
# > HHEHFEAM(1:00~ KB, EREHEI—IANER) > =HELAE(1:50~
13:00 BRR) = XUl (HIH~SI#ESR)

O TH26H K @I = FR ]
Ahll-/NERBEER(£468:20-8:30HK) = EHE145 = IR E2EEHEE
(9:00~9:40HH&E%L) = EE148 = JRA/\BERAOXES AT = A/\BERIL
An—4)——fF = JRA/\BRAOXREREH = EE148 = RITLHEINRER
Ef = FHMER- TN IZEERRESAGT @ MHEXZEZREHE = HHE3I—-13.
HURSYIAEAT = FEEABEEREAIAO(O0:30 ~11:00 KE)ABEEXA = —4A
BITHRZILIC = FHBASEFH2-4)ALT = YU IU—X3 iar (FTH2—
25—14)ABEH = EEEREITELE(RKMA4—9) = XKML LAEFEAO(1:30~
12:50 RE-XH)LAEEOISHHE = RNN—JA(4X7—+ = FARLATEAHEERT =
BW5p50—F = JREKBEHRESETEE = AYPOALHR (EXEEAVWERLERFNIZD
(+3) = FAT7A40—K = S4I—AXEH = HJIER 4O(13:10~13:50F% 1TH
14:00%) = EE145 = WmE = IFIEAINE(14:405 - RRERADSIHFESR)

Ut



